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B.A./B.Sc. 3rd  Semester (Honours) Examination, 2020 (CBCS) 

Subject: Economics 

Paper: CC-5 

(Intermediate Microeconomics) 

Time: 3 Hours               Marks: 60 

The figures in the margin indicate full marks. 
Candidates are required to give their answers in their own words as far as practicable. 

দক্ষিণ প্রান্তস্থ সংখ্যাগুক্ষি প্রশ্নের মান ক্ষনদর্শক। 
পরীিাা্র্শীশ্নদর যর্াসম্ভব ক্ষনশ্নের ভাষায় উত্তর ক্ষদশ্নে হশ্নব।  

 
1. Answer any six questions:       5×6=30 

যয যকান ছয়ক্ষি প্রশ্নের উত্তর দাওঃ  

 

(a) Explain the conditions of possibility and profitability of price discrimination. 

দাম ক্ষবভােন সম্ভবপর ও িাভেনক হওয়ার র্েশাবিী বযাখ্যা কর।  

 

(b) Explain the group equilibrium under monopolistic competition when there is free 

entry and price competition. 

যখ্ন প্রক্ষেশ্নযাক্ষিো মূিক একশ্নেক্ষিয়া কারবাশ্নর অবাধ প্রশ্নবর্ এবং দাশ্নমর প্রক্ষেশ্নযাক্ষিো ক্ষবরাে কশ্নর েখ্ন 

উৎপাদক দশ্নির ভারসাময বযাখ্যা কর।  

 

(c) Explain the equilibrium output and price determination in an oligopoly market where 

the dominant seller is the price leader. 

যয অক্ষিশ্নিাপক্ষি বাোশ্নর বৃহৎ একেন ক্ষবশ্নেো মূিয ক্ষনশ্নদশর্ক ক্ষহসাশ্নব কাে কশ্নর যসখ্াশ্নন ভারসাময উৎপাদন 

ও মূিয ক্ষনধশারশ্নন ক্ষবষয়ক্ষি আশ্নিােনা কর।  

  

(d) Briefly discuss the uncertainty theory of profit. 

মুনাফার অক্ষনশ্চয়্োর েত্ত্বক্ষি সংশ্নিশ্নপ আশ্নিােনা কর।  
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(e) Define and derive pareto optimality condition in case of consumption sector. 

যভাশ্নির যিশ্নে পযাশ্নরশ্নিা কাময অবস্থার সংজ্ঞা দাও এবং র্েশক্ষি ক্ষকভাশ্নব ক্ষনরূক্ষপে হয় ো আশ্নিােনা কর। 

 

(f) If there exists perfect competition in product market and monopoly in labour market, 

is it possible for any labour union to raise wage rate without reducing employment? 

Explain.  

দ্রবযর বাোশ্নর পূণশ প্রক্ষেশ্নযাক্ষিো এবং শ্রশ্নমর বাোশ্নর একশ্নেক্ষিয়া ক্ষবশ্নেো র্াকশ্নি যকানও শ্রক্ষমক সংঘ ক্ষক 

ছাাঁিাই না যমশ্নন মেুক্ষর বাড়াশ্নে সিম হশ্নব? বযাখ্যা কর। 5 

 

 

(g) Distinguish between rent and transfer earning and show how rent is related with 

price. 

খ্ােনা এবং হস্তান্তর আশ্নয়র এবং খ্ােনামুিক আশ্নয়র মশ্নধয পার্শকয ক্ষননশয় কর এবং খ্ােনা ক্ষকভাশ্নব দাশ্নমর 

সক্ষহে সম্পক্ষকশে ো যদখ্াও। 

 

(h) Explain why a monopoly firm will not produce in the inelastic portion of the demand 

curve.                   

একেন একশ্নেক্ষিয়া কারবাক্ষর যকন োক্ষহদা যরখ্ার অক্ষস্থক্ষেস্থাপক অংশ্নর্ উৎপাদন কশ্নর না।  

 

 

2. Answer any three questions:      10×3=30 

যয যকান ক্ষেনক্ষি প্রশ্নের উত্তর দাওঃ  

 

(a) Describe a labourer’s labour supply curve from his rational behavior and comment 

on the shape of this curve.            

একেন শ্রক্ষমশ্নকর যুক্ষিবাদী আেরশ্নণর ক্ষভক্ষত্তশ্নে োর শ্রশ্নমর যযািান যরখ্া ক্ষনণশয় কর এবং এর আকৃক্ষে 

সম্পশ্নকশ মোমে দাও।    
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(b) Critically explain the Marginal Productivity Theory of distribution.    

প্রাক্ষন্তক উৎপাদনর্ীিো েত্তক্ষি সমাশ্নিােনামূিক আশ্নিােনা কর।  

 

(c) Stating the underlying assumptions of the Stackelberg’s duopoly model, explain how 

equilibrium is derived in it.         

যেশ্নকিবািশ ডুশ্নয়াপক্ষি মশ্নডশ্নির আনুমানগুক্ষি উশ্নেখ্ কশ্নর এই মশ্নদশ্নির ভারসাময বযাখ্যা কর। 

 

(d) Show how equilibrium is derived in case of monopoly market.     

একশ্নেক্ষিয়া কারবাশ্নরর ভারসাময  ক্ষকভাশ্নব ক্ষনরূক্ষপে হয় ো যদখ্াও। 

 

(e) Describing a general equilibrium set up, show how simultaneous equilibrium is 

achieved in all markets.          

সাধারণ ভারসাময মশ্নডি বযাখ্যা কশ্নর যদখ্াও ক্ষকভাশ্নব এই মশ্নডশ্নি সমস্ত বাোশ্নর পারস্পক্ষরক ভারসাময 

রক্ষিে হয়।   


